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1 401 [EEfR R BEPER 248 1053378
2 405 |fEEH L BEhPR 248 1043 39%)
3 403 |/MRIRE B Kmt ke Jr. 24 1145523%)
4 409 |kl BESE BEPER 14 1155378
5 412 R B BEPER 248 115750
6 413 |ET ER WE AR 24 11435050
7 408 |HPAF SEEEHE BERBRER 14 1143525
8 406 [KEF £ BRI 24 1153578
9 407 i BERR P 24 1143595
10 414 | K BB WEP PR 1AR 125700
11 416 [HR K B 14 125700
12 410 |AR e WEP R 24F 1255 14%
13 411 [Aokm HE BRI 24 12431450
14 47 [Ema R WEP R 24F 1253318
15 423 |[EE BE BRI 14 12554150
16 419 ¥R DB B 24 125749%
17 415 | BEH Ok R AR 24F 135709%
18 426 4 K B 14 1357165
19 421 | AF M WEP AR 1AR 1355208
20 422 |z b OB WEP PR 24F 1355278
21 425 B fEE BERR P 14 1343345
22 424 IR Fndg WEP PR 24F 145309%
23 430 |ED 3 WEP AR 24F 1457138
24 431 Bl oA B 24 14432550
25 428 |#hEE KA WEP PR 24F 145758%)
26 432 |RJR < DA TP 14 155700
27 427 |HR OHAE BERAT RS 14R 1557 1980




